Algebra 2 Chapter 7 Review Spring 2016

1. Simplify. Use absolute value symbols as needed.

a) J68a®hBcB b) ¥-24mp2 c Sy
g

2. Simplify each. Assume that all variables are positive numbers. Make sure denominators are rationalized

if necessary.
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a) 528 +3/175 -2,/63 b) /10x%7 - J15xp1° c) ¥9%a b
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3. Rationalize each denominator and simplify. Assume all variables are positive numbers.
a) 12Q4Rz b 1442b c) 8 d) 14m3

[30°R? Y4a"p% 4+ /6 f6m*n™
%
4. Rewrite in radical form. a) a b) 6m?
5. Rewrite in exponential form. a) ¥e° b) ¥5¢
6. Simplify each. Assume that all variables are positive numbers.
=1 =2
a) (5w ?2)? b) (8m?) 3
7. SoNe each equation. Check for extraneous solutions.
a) Y7 = Yx 534 b) 5/A=7 —4=6 ) 3+ 1) =24
d J3x-2 —x=0 e) v2x+19 -2 =x
8. Write the equation of the inverse relation for each function.
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a)j(x)=§——2§—_—-‘?— b) y=-3x+1 c) y=-Tx-4 +6 d) y=9(—5—3~5~8"—1>

9. Tell if the inverse relation of each is a function or not.

a)y:—%—x—k? by y=(x-1D*+5
¢) Use the graph below d) Use the graph below
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10. Write the equation of each square root function.
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11. Graph each square root function.

a) y=—-Jx+2 b)y=2/x+4-3 c)y=-/-(=-3)+1 d) y=3[-(x-2)
12. Find the Domain and Range of the Square Root function in problem #11.

13. State the Domain and Range of the inverse relation to the graph shown below.
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Algebra 2 Chapter Review ANSWERS| Spring 2016
1. a)  2a®-b°-|c!] - J17bc b) —2m*nY3m? c) |g°| - htJg’h

4
2 a) 197 b) 55586y <) zaf‘; d) -1-13/3  e) 57

5
f 2LTm q) 2456*Y7a

2nt

b) 73¥2a%b o) 16 -4,/6 d) Tm2§6>m*n®

a’b? 3n3

3. a) 40/30R



4. a) Ya? or (¥a)? b) 64m° or 6(Jm)°

o

3 1
5. a) eb b) (5¢)° 6. a) %23- b) —1

7. a) x=11 b) x=11 ¢) x=31

®

0 1@ =(252)+4 & W=

9.a)Yes b)No ¢) No d) Yes

4m®

dx=12 e)x=3

a) £l =+ [543 b) £1(x) = =1

8-3% +1
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10.a) y=-2/-(x-3)+4 b)y=-3Jx+3+2 ¢)y=2/-(x-1)-3
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12. a) Domain: x > 0 Range: y <2

b) Domain: x > -4 Range: y > -3

¢) Domain: x <3 Range: y <1 d) Domain: x <2 Range:y >0

13. Domain of the inverse: x <3
Range of the inverse: y < -2,1<y<4



